Latin Perfect Active Indicative
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ID ?RE

T? ESSE

T? ?RE

ID AM?RE

N?S ESSE

EGO AM?RE

ID VEN?RE

ID DOC?RE

V?S AM?RE

T? VEN?RE

EGO HAB?RE
EGO APER?RE
V?S IUV?RE

N?S IUV?RE

EA (THEY N.) ?RE
EA (THEY N.) VENDERE

T O r< X>—I0<VZ—m0WHdDVE—-XXKL

VMW 4 UTssT0<KZZIZwWn - —0O >
Zn<OoOmMmUuU<CcunwnomoOCcncunmm-HKc<
4 MTMCcC—-——Z0TMvV—4TMZTUVCZTAH—20
V- CZZ 4 -0 42<<<CcCOVvV —-——4CC
<P C———94-—CS V990 —-000OHIZZ

N e O OnCcCcwmCcg —Tm12Z2 —

cCTwnm< —

N —

N L Y Ny —
V< — VD Z2CCc -

VX OO0 4 wm 71V —
rZO0O—0U0Ov>r» 0z CnAH—-—<=2"0DOO0OHA4H

ID ESSE

EGO ESSE

EGO POSSE

V?S ?RE

V?S ESSE

N?S POSSE

ID HAB?RE

EGO VENDERE

EGO IUV?RE

T? VENDERE

T? HAB?RE

N?S VEN?RE

V?S DOC?RE

N?S APER?RE

EA (THEY N.) LEGERE
EA (THEY N.) IUV?RE

Onc-—-—un-H4H—unI-H4HXCun-—-mMmau<K<OOO0
W mmDw>P T MITC - CWnHZ2Z24H4Xr 00T

- CcCvC>» I >» W C—4H—04HA«wwm——0OO0

D 0O
wv< —43s<

VN — W HYnm Ir o<

< vZICcCTnmnZnrIv<< —49Av4H0n—0vr
SmMIT—-—-0Z9v9v<OO0OUO~vwCXImMmDTV>» 250
mrocoCczZz20n<<wmvwu4HdzcCcxogvov<Cc -—

M TrO0OZvV0OXDVZZ>-—
——ndVvAHd< zZz -

EGO ?RE

ID POSSE

N?S ?RE

ID LEGERE

ID IUV?RE

EGO LEGERE

T? LEGERE

T? IUV?RE

EGO VEN?RE

EGO DOC?RE

N?S LEGERE

V?S VEN?RE

N?S HAB?RE

EA (THEY N.) ESSE
EA (THEY N.) DOC?RE
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